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27/29 SSA — Calculator Section

(Trigonometry & Circle Geometry)
25 Minutes
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2. Iftriangle ABC has area 150 cm’, find t@
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3. Find the value of x. [3]
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4. Tntriangle QRS, find the measure of angle R if » =43.8 cm, s = 31.4cm and angle S is 43
degrees. ) [3]
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5. A family in Germany drives at 140 kmph for 45 minutes on a bearing of 32° and then 180 kmph

for 40 minutes on a bearing of 317 . Find the distance and bearing of the car to its starting

position from the finishing position.

(remember from physics, Distance = speed x time!!) [6]
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EXTRA CREDIT only attempt if you are finished with the rest of the test! i

Triangle ABC has sides of length a, b, and ¢ units. A cirlce of radius r is drawn through the vertices of the
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triangle. Show that the area of the trianlge is given by the formula 4=-—.
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